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ENGLISH VERSION

Instruction : Write answers of all questions in main answer sheet.

1 MCQ. 20

ey

)

3)

4)

()

©6)

“Individual adjustment is a process of interaction between us
and our surrounding” — Who says this ?
(A) James Colemen
(B) Lehner and Cube
(C) Sorenson and Maam
(D) Willham James
Individual differences depend on
(A) Psychological environment
(B) Heredity and environment
(C) Social environment
(D) Economical environment
Which model considers only one aspect of illness ?
(A) Health
(B) Psycho-cultural
(C) Bio-medical
(D) Bio psycho-sociological
Adjustment is moving process.
(A) Continuous
(B) Daiscontinuous
(C) One way
(D) None
Who says “Permanent problem is job adjustment” ?
(A) Demetto
(B) Goldin
(C) Shelli
(D) Pafanbarjar
is most important in life of individual differences.
(A) Decision

(B) Reality
(C) Difficulty
(D) Illness
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) 1s technique to decrease tension.
(A) Prayer
(B) Relaxation
(C) Exercises
(D) Daiet control
€)) is not an adjustment.
(A) Compromise
(B) Universal
(C) Corresponding
(D) Self observation
Q) Too much fondling is interaction between parents
and child.
(A) Positive
(B) Negative

(C) Good
(D) None
(10) Lehner and Cube indicated factors affecting job
satisfaction.
(A Two
(B) Three
(C) Four
(D) Five

(11) At which age boys reache sexual maturity ?
(A) 11-12 years
B) 12-13 years
(C) 14-15 years
(D) 16-18 years
(12) Main types of family are

A 4
@ 5
© 2
®) 3

(13) How is process of adjustment ?
(A) to be healthy

(B) one way
(C) to be famous
(D) two way
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(14) gland develops faster in adolescence.
(A) Sexual
(B) Thyroid
(C) Adrenaline
(D) Pancreas
(15) For which reasons critical position in family is induced ?
(A) Unemployment
(B) Accident
(C) Illness
(D) Wars
(16) What vocation gives to a person ?
(A) Fantasy choice
(B) Interest
(C) Satisfaction
(D) Choice
(17) How many are types of improving of adjustment ?
A 4
B) 5
©€) 2
O 3
(18) Social relaxation 1is
(A) Heredity
B) Collected
(C) By birth
(D) Stable
(19) How many types of adjustment in married
A 4
B) 5
©€) 2
O 3
(20) With which food ingredients have relationship ?
(A) Metabolism
(B) Rate of breathing
(C) Heart beats
(D) Serum cholestrol
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2  What is family ? Explain its types.
OR

2  Explain the importance of individual differences.

3  Discuss the characteristics of adjustment.
OR

3  Explain the factors affecting the job satisfaction.

4 (a) Write short note : (any one)
(1) Factors effecting selection of life partner
(2) Factors effecting job selection.
(b) Write short note : (any one)
(1) Suggestion for family adjustment
(2) Relationship of parents and child.

5 Write short answers : (any two)
(1) Improving of adjustment
(2) Meaning of marital adjustment
(3) Meaning of vocational adjustment

(4) Sources of individual differences.
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